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ZC““} + 01'1!1 - ZCHD{“

d) there is no reduced agent

18) Is the following reaction

Zn(s) + 2 AgNO;(aq) — Zn(NO3)(aq) + 2A8(s)
a) oxidation —reduction
b) only oxidation

¢) only reduction
d) precipitation

i lari
19) If you have 50.00 mL of a 0.0400 M KMnO, solution. What is the resulting molarity
(M) of the solution if you dilute the solution to become 1L.

a. 0.002 M

b.0.1 M

c. 0.000001M

d. None of the above

lent?
20) Which of the following substances must be cova

a) F2
b) Na,O
¢.) NaF
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6) Suppose the reaey

; ion Oy P ,
Starting wih 103 g of CHE.(;{; O4)2 + 3H2804 3CaS04 + 2H3PO, is carried out
be Produceq? 4)2 and 75.¢ £ 0T H2S04. How much phosphoric acid will

a) 749
b) 50.0¢
¢) 112g
d) 325 g

7) The empirical formula of styrene i

molecular formula of styrene?
a) CyHy
b) CgHg
¢) CipHys
d) CgHg

s CH; its molar mass is 104.1. What is the

8) W!Jat mass of calcium chloride, CaCly, is needed to prepare 2.850 Lofa1.56 M
solution?

a) 259¢

b) 60.8¢g

¢c) llig

d) 493 ¢

9) In which of the following does nitrogen have an oxidation state of +4?
a) HNOj
b) NO»
¢c) N»O
d) NH4Cl

10) Which of the following is not a strong base?

a) Ca(OH)y
b) KOH
¢) NH3
d) LiOH

11) We have defined molarity as

b) moles / volume of
¢) mass of solute / volume
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mL of water, the molarity of the obtained

a)a
b) b
c)c
d) d

14) If 8.00 g of Nal are produced from a mixture of 10.0 g I, and 10.0 ¢ NaOH, what is

the percent vield?
3 Ix(s) + 6 NaOH(s) — 5 Nal(s) + NalOs(s) + 3H,0(1)

a)81.3%

b) 19.5 %

c)25.6 %

d) 40.6 %

15) In the following reaction, how many moles of O, are required to produce 0.86 g of

>
g 2 Cu(s) + 0:(g) — 2 CuO(s)

a) 5.4x 107
b) 1.1 x 107
c)4.3x 10"
d) 1.9 x 10°

mium, Cr, in the dichromate ion, Cr0-"

a) +6
b) +5
) 4.
dre3 o8
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2) What I8 the

pereent composition of Kthylene? € 51,7

; &) 92.3% Carbon and 7,7%, Hydrogen
b) 82% Carbon and 18% H ydrogen
€) 82.7% Carbon and 17.3 % Hydrogen
d) 90% Carbon and 14 % Hydrogen

3) What is the empirie

al formula for 4 compound that containg 1.67 mole Cay
5.01 Moles of H ydrogen
a) CH
b) (] i,
¢) C,H,
{” ( 'l f'{

4) What is the empirical formula fo
Yo Fluorine?

a) NalF;

b) NaF

¢) NaF

d) NaF,

4 compound that contains 37.69% Na

5) The limiting reactant in a re

4) 1s the reactant which is const
b) is the product for which yor
¢) 15 the reactant w ich

d) none of these

—_—



